
Kohler Co.	 1	 1144955-X2-B

BEFORE YOU BEGIN ก่อนเริ่มการติดตั้ง

ORDERING INFORMATION ข้อมูลการสั่งซื้อ

SAFETY: WARNINGS คำ�เตือน

•	 Please read these instructions carefully to familiarize yourself  � 
	 with the required tools, materials, and installation sequences.
	 Follow the sections that pertain to your particular installation.
	 This will help you avoid costly mistakes. In addition to proper � 
	 installation, read all operating and safety instructions.

•	 All information in these instructions is based upon the latest �	
	 product information available at the time of publication.
	 Kohler China. reserves the right to make changes in product
	 characteristics, packaging, or availability at anytime without 
	 notice.

•	 These instructions contain important care, cleaning and warranty 
	 information - please leave instructions for the consumer.

•	 SLIM washbasin cabinet adopts E1 grade wood-based panel 
	 of high quality, and with further processing, its harmful 
	 emissions will be less than 1.5 mg/L.

•	 Turn off the water supply.

•	 The pluming installation must comply with Water Supply
	 Regulations/Bye-laws, Building Regulations or any particular 
	 regulations and practices, specified by the local� water 
	 company or water undertakers.The installation should be 
	 carried out by a plumber.

•	 Before installation carefully inspect the new fixture for any�	
	 signs of damage.

Kohler products are precision-engineered and should give
continued superior and safe performance, provided:
1.	They are installed, commissioned, operated and maimtained�	
	 in accordance with the recommendation given in this Manual.

2. Periodic attention is given, as necessary, to maintain the 
	 product in good functional order. Reccomended guidelines �	
	 are given in the MAINTAINANCE section.

Carefully inspect the new fixture for any signs of damage.

When installing Kohler Products, manufacturers guidelines for 
power tool safety should be followed.

•	 โปรดอา่นข้อแนะน�ำในคูมื่อเลม่นีใ้ห้ละเอียดครบถ้วนเพ่ือท�ำความ�คุ้นเคย
	 กบัเคร่ืองมือและวสัดอุปุกรณ์ท่ีจ�ำเป็นรวมถึงขัน้ตอนการติดตัง้ต่างๆ  
	 ปฏิบตัติามข้อแนะน�ำการตดิตัง้อยา่งเคร่งครัดเพ่ือหลกีเลีย่งความเสยีหาย  
	 นอกจากข้อแนะน�ำการติดตัง้ โปรดอ่านข้อแนะน�ำเก่ียวกบัการใช้งาน 
	 และข้อแนะน�ำความปลอดภยัให้ละเอียดครบถ้วน

•	 ข้อมลูในคูมื่อนีม้าจากข้อมลูผลติภณัฑ์ลา่สดุท่ีมีอยูใ่นชว่งเวลา�การจดัพิมพ์ 
 	 บริษัทฯ ของสงวนสทิธ์ิในการเปลีย่นแปลงข้อมลูผลติภณัฑ์� บรรจภุณัฑ์ท่ีมี 

	 โดยท่ีมิต้องแจ้งให้ทราบลว่งหน้า

•	 คูมื่อเลม่นีมี้ข้อมลูส�ำคญัเก่ียวกบัการดแูลรักษา, การท�ำความสะอาด �	
	 และการรับประกนั โปรดมอบคู่มือนี้ให้แก่ลูกค้า

•	 ตู้ เฟอร์นิเจอร์ส�ำหรับอา่งล้างหน้า รุ่นสลมิ ผลติจากวสัดท่ีุปลอดภยัได้ 
	 มาตรฐาน E1 และมีอัตราการปล่อยก๊าซฟอร์มาลดีไฮด์อยู่ท่ีไม่เกิน 
 	 1.5 มิลลกิรัมตอ่ลติร

•	 ปิดวาล์วน�ำ้ก่อนเร่ิมการตดิตัง้

•	 เม่ือตอ่ทอ่ประปาต้องยดึถือปฏิบตัติามข้อก�ำหนดระบบประปาข้อก�ำหนด
	 อาคารหรือข้อก�ำหนดและกฏระเบียบอ่ืนๆ ท่ีก�ำหนดไว้อย่างเคร่งครัด  
	 การตดิตัง้ทอ่ประปาต้องด�ำเนินการโดยชา่งผู้ช�ำนาญการเทา่นัน้

•	 ตรวจสอบความเสียหายของผลติภณัฑ์ก่อนเร่ิมการตดิตัง้

ผลติภณัฑ์ของโคห์เลอร์ผลติด้วยเทคโนโลยีชัน้สงูท่ีล�ำ้สมยัทา่นจะสามารถ 
ใช้งานผลติภณัฑ์ได้อยา่งปลอดภยัและเตม็ประสทิธิภาพเม่ือ:

1.	ตดิตัง้ ใช้งาน และดแูลรักษาผลติภณัฑ์ตามข้อแนะน�ำท่ีระบไุว้ในคูมื่อ 
	 เลม่นี ้

2.	ดูแลรักษาผลิตภัณฑ์เป็นประจ�ำเพ่ือให้ผลิตภัณฑ์อยู่ในสภาพพร้อม 
	 ใช้งาน ส�ำหรับรายละเอียดเก่ียวกบัการดแูลรักษา โปรดดหูวัข้อ
	 “การบ�ำรุงรักษา”

โปรดตรวจสอบความเสียหายของผลติภณัฑ์ก่อนเร่ิมการตดิตัง้

เม่ือตดิตัง้ผลติภณัฑ์ของโคห์เลอร์ โปรดปฏิบตัติามข้อแนะน�ำการใช้งาน
จากผู้ผลติทกุครัง้ท่ีใช้งานเคร่ืองมือไฟฟ้า

This installation covers the following products in the SLIM
range:

SLIM 790 mm Washbasin Cabinet............................	K-15227X
SLIM 990 mm Washbasin Cabinet............................	K-15228X

ข้อแนะน�ำการตดิตัง้ท่ีจะอธิบายตอ่ไปนีค้รอบคลมุถงึผลติภณัฑ์  สลมิ
ดงัตอ่ไปนี:้
ตู้ เฟอร์นิเจอร์ส�ำหรับอา่งล้างหน้า รุ่นสลมิ ขนาด 790 มม. .......K-15227X
ตู้ เฟอร์นิเจอร์ส�ำหรับอา่งล้างหน้า รุ่นสลมิ ขนาด 990 มม. .......K-15228X

INSTALLATION AND CARE GUIDE
ขอแนะนําการติดตั้งและการดูแลรักษา

SLIM WASHBASIN CABINET
ตู้เฟอร์นิเจอร์สำ�หรับอ่างล้างหน้า รุ่นสลิม

K-15227X/K-15228X



1144955-X2-B	 2	 Kohler Co.

PART IDENTIFICATION ภาพแสดงอุปกรณ์ประกอบ

Circinal Cushion
แหวนรอง

Screw M6*70
สกรู M6*70

Cap for Screw
ปิดรูสกรู

R/L Suspension Bracket
รองกนัสะเทือน

Screw M5*60
สกรู M5*60

Suspension Patch
ขอแขวน

Expanding Dowel
พกุ

Cap for Cam, White
ปิดรู, สีขาว

Crashworthy Cushion
รองกนักระแทก

Circinal Cushion
แหวนรอง Screw M6*70

สกรู M6*70

Cap for Screw
ปิดรูสกรู

R/L Suspension Bracket
รองกนัสะเทือน

Screw M5*60
สกรู M5*60

Suspension
Patch
ขอแขวน

Expanding Dowel
พกุ Cap for Cam, White

ปิดรู, สีขาว

Crashworthy Cushion
รองกนักระแทก

K-15227X

K-15227X



Kohler Co.	 3	 1144955-X2-B

ROUGHING-IN ระยะติดตั้ง

UNIT:mm
หนว่ย: มม.

460460

395395

990
790

K-15228X
990 mm Washbasin Cabinet

ตู้ เฟอร์นิเจอร์ส�ำหรับอา่งล้างหน้าขนาด 990 มม.

K-15227X
790 mm Washbasin Cabinet

ตู้ เฟอร์นิเจอร์ส�ำหรับอา่งล้างหน้าขนาด 790 มม.

*Kohler reserves the right to change marked dimensions without prior notice.
*โคห์เลอร์ขอสงวนสทิธ์ิในการเปลี่ยนแปลงระยะการตดิตัง้โดยไมต้่องแจ้งให้ทราบลว่งหน้า

INSTALLATION ข้อแนะนำ�การติดตั้ง

A. Install Washbasin Cabinet
Install the services.

•	 Connect hot and cold inlets to the inlet pipes correctly.
•	 Install the drain in accordance with the menufacturer’s 
	 instructions.

We suggest using P-trap Drain. Connect P-trap pipe with 
washbasin drain.

		  CAUTION:  Make sure a watertight seal exisits on all
		  washbasin.

		  CAUTION:  Provide access to the plumbling connections 
		  for future plumbling maintenance.

Install the hot and cold water supplies with isolating valves.

ก. ตดิตัง้ตูเ้ฟอร์นิเจอร์ส�ำหรบัอ่างล้างหน้า
การตดิตัง้อปุกรณ์
•	 ตอ่ทอ่น�ำ้ร้อนและทอ่น�ำ้เยน็ให้ถกูต้อง
•	 ตอ่ทอ่น�ำ้ทิง้โดยปฏิบตัติามข้อแนะน�ำการติดตัง้ของผู้ผลติ

แนะน�ำให้ใช้ทอ่แบบออกผนงั ตอ่เข้ากบัทอ่สะดืออา่งล้างหน้า

		  ข้อควรระวัง: ต้องให้แนใ่จวา่ ทาซลิโิคนตามข้อตอ่ทอ่น�ำ้ทิง้
		  ของอา่งล้างหน้า

	 	 ข้อควรระวงั: ตดิตัง้ชอ่งซอ่มบ�ำรุงเพ่ือความสะดวกในการซอ่ม
		  บ�ำรุงระบบประปา

ตดิตัง้ทอ่น�ำ้โดยแยกวาล์วน�ำ้ร้อนและวาล์วน�ำ้เยน็ออกจากกนั 

Connect P-trap pipe with washbasin drain.
ต่อท่อแบบออกผนัง เข้ากับท่อสะดืออ่างล้างหน้า



1144955-X2-B	 4	 Kohler Co.

1.	Mark the position of hanging bracket according to dimensions  
	 as illustrated.

NOTE: Refer to “Roughing-In” for the wall bracket installation.

		  CAUTION:  Avoid the cables and pipes inner set when  
		  drilling in the wall.

NOTE: Different types of bolts are required for different 
decoration boards. Please apply suitable bolts and plugs.

1.	เลือกต�ำแหนง่ท่ีจะตดิตัง้แผงยดึโดยอ้างอิงจากระยะการตดิตัง้
	 ดงัภาพแสดง

ข้อสังเกต: ตดิตัง้แผงยดึโดยอ้างอิงหวัข้อ “ระยะการตดิตัง้”

		  ข้อควรระวัง: เม่ือเจาะรูบนผนงั ระมดัระวงัอยา่ให้โดนสายไฟ		
		  หรือทอ่น�ำ้ประปา

ข้อสังเกต: เลือกใช้โบลท์และพกุให้เหมาะสมกบัการตดิตัง้

Wall Bracket

ขอแขวนผนงั

Finished Floor/พื �น

Levels

ระดบันํ �า

Levels

ระดบันํ �า

Wall Bracket

ขอแขวนผนงั
20 20 2020

790 990

460 460

299 299

547 547

K-15228XK-15227X

1 2

2.	Drill hole for fixing the bracket. Using a level, ensure that
	 the hanged bracket is level.

3.	Use suitable plugs and bolts, and fix the hanged bracket 
	 on the wall.

4.	Push the pin of slide door and remove the door carefully.

	

2.	เจาะรูบนผนงัส�ำหรับติดตัง้แผงยดึ จากนัน้ประกอบแผงยดึเข้ากบัผนงั
	 ตรวจสอบให้แนใ่จวา่ แผงยดึได้ระดบัเทา่กนั

3.	ยดึแผงยดึไว้กบัผนงัโดยใช้โบลท์และพกุขนาดเหมาะสม

4.	ดนัสลกัด้านหลงัของประตบูานเลื่อน จากนัน้ถอดบานเลื่อนออกอยา่ง 
	 ระมดัระวงั

Push the pin and remove the slide door carefully.

ดันสลักและถอดประตูบานเลื่อนออกอย่างระมัดระวัง



Kohler Co.	 5	 1144955-X2-B

5.	Mark the wall through two holes at the corresponding 
	 positions as illustrated below.

6.	Dismount the washbasin cabinet and put aside. Drill holes at  
	 the marked position.

		  CAUTION:  Avoid the cables and pipes inner set when  
		  drilling in the wall.

	 7.	Insert the plug into the wall.

	 8.	Set the washbasin cabinet onto the brackets. Besure 
		 the cabinet adjusted level and the back board of cabinet
		 appressed to the wall by adjusting the screws of wall clips. 

	 9.	Tighten the screw, make sure the washbasin cabinet has 
	 	been fixed firmly on the wall.

5.	ท�ำเคร่ืองหมายแสดงต�ำแหนง่รู 2 รูบนผนงัโดยอ้างอิงต�ำแหนง่
	 ดงัภาพแสดงด้านลา่ง

6.	ถอดตู้ เฟอร์นิเจอร์และวางไว้ข้าง ๆ จากนัน้เจาะรูตามต�ำแหนง่ท่ี
ท�ำเคร่ืองหมายก�ำกบัไว้

		  ข้อควรระวัง: เม่ือเจาะรูบนผนงั ระมดัระวงัอยา่ให้โดนสายไฟ		
		  หรือทอ่น�ำ้ประปา

	 7.	สวมพกุเข้ากบัผนงั

	 8.	ประกอบตู้ เฟอร์นิเจอร์เข้ากบัแผงยดึบนผนงั ต้องให้แนใ่จวา่
		 ตู้ เฟอร์นิเจอร์ได้ระดบัเทา่กนัทกุด้าน และแผงด้านหลงัของ
		 ตู้ เฟอร์นิเจอร์ชิดกบัผนงั

	 9.	ขนัสกรูให้แนน่ ตรวจสอบให้แนใ่จวา่ตดิตัง้ตู้ เฟอร์นิเจอร์แนน่หนา

Drill Hole Ø8 mm/ขนาดรูเจาะ Ø8 มม.

B. Connect Drainage

Inwall drainage (P-Trap)

Please install the drain assembly and faucet as shown.
Please set the water supply and drainage position
according to the suppliers instructions.

ข. ต่อท่อน�ำ้ท้ิง

ทอ่น�ำ้ทิง้แบบออกผนงั

โปรดตดิตัง้ชดุทอ่น�ำ้ทิง้และก๊อกน�ำ้ดงัภาพแสดง
ตดิตัง้ทางน�ำ้เข้าและจดัต�ำแหนง่ของทอ่น�ำ้ทิง้ตามคูมื่อแนะน�ำ
การตดิตัง้ของผู้ผลติ

Faucet
ก๊อกนํ �า
Supply Lines
ทอ่นํ �าดี

Shut-off Valve
วาล์วเปิด-ปิดนํ �า
Drain Assembly
ชดุทอ่นํ �าทิ �ง

Sliding doors
ประตบูานเลื�อน

Back Board
แผน่ปิดหลงั

Finished Floor/พื �น

Finished Wall/ผนงั

Install P-Trap
ติดตั้งทอนํ้าทิ้งแบบออกผนัง



1144955-X2-B	 6	 Kohler Co.

CARE AND CLEANING การดูแลรักษาและการทำ�ความสะอาด

	1.	 Many cleansers contain abrasive and chemical substance 
		  which is not suitable for cleaning stainless steel, enamel,
		  plating or plastic products. You may use mild cleansers or
		  soaps to clean the surfaces. Wipe any splashes of cleaner
		  solutions from the surface with clean soft cloth.

	2.	 Maintain ventilation in the bathroom, and separate the dry 
		  area from the damp one if conditions permit. Try to open
		  the door and windows of the bathroom and maintain good
		  ventilation.

	3.	 Kohler bathroom cabinet are dealt with strict procedures for
		  damp-proof, whose good damp-proof function ensures good
		  performance even in bathroom of huge humidity. Yet do not
		  splash and pour water directly on thebathroom cabinet.
		  Make sure that the bathroom is not over damp and wipe any
		  splashes from surfaces immediately.

	4.	 Clean and wipe cabinet regularly, and wipe the condensation  
		  vapor with dry and soft cloth.

	5.	 Ensure that electrical connections for appliances such as
		  head lamp is insulated wipe mirror surface with chamois
	 	 regularly to guarantee the persistent excellent performance.

6. Please do not sit, lean or step on the basin cabinet.

1.	 ผลติภณัฑ์ท�ำความสะอาดบางประเภทอาจมีสว่นผสมของสารเคมีและ 
	 สารท่ีมีฤทธ์ิกดักร่อนซึง่ไมเ่หมาะส�ำหรับท�ำความสะอาด	 ผ ลิ ต ภัณ ฑ์ 
	 สแตนเลส อีนาเมล โลหะ หรือพลาสติก ขอแนะน�ำให้ใช้ผลิตภณัฑ์ท�ำ 
	 ความสะอาดหรือสบู่ท่ีมีฤทธ์ิอ่อนๆ ท�ำความสะอาดพืน้ผิวผลิตภณัฑ์  
	 เช็ดคราบผลติภณัฑ์ท�ำความสะอาดท่ีตกค้างบนพืน้ผิวด้วยผ้านุม่

2.	 ห้องน�ำ้จะต้องมีอากาศถ่ายเทเพียงพอ แยกสว่นแห้งและสว่นเปียก
	 ออกจากกนั หากท�ำได้พยายามเปิดประตแูละหน้าตา่งห้องนํา้เพ่ือ�	  
	 ระบายอากาศ

3.	 ตู้ เฟอร์นิเจอร์ห้องนํา้ของโคห์เลอร์มีคณุสมบตัิป้องกนัความชืน้ ท�ำให้ 
	 ท่านมั่นใจได้ถึงประสิทธิภาพการท�ำงานท่ียอดเย่ียม แม้ใช้งานใน 
	 ห้องนํา้ท่ีมีความชืน้สูง  อย่างไรก็ตาม  อย่าสาดหรือเทนํา้ลงบน 
	 ตู้ เฟอร์นิเจอร์โดยตรง ตรวจสอบให้แน่ใจว่า ห้องนํา้ไม่ชืน้จนเกินไป 
	 และเช็ดผลิตภัณฑ์ท�ำความสะอาดหรือคราบนํา้ออกจากพืน้ผิว 
	 ผลติภณัฑ์ทนัที

4.	 เช็ดท�ำความสะอาดตู้ เฟอร์นิเจอร์เป็นประจ�ำและเช็ดให้แห้งด้วยผ้านุม่ 
	 ทกุครัง้หลงัใช้งาน

5.	 ต้องให้แนใ่จวา่ หุ้มฉนวนสายไฟของอปุกรณ์ไฟ้ฟ้า เชน่ โคมไฟ ฯลฯ
	 เช็ดท�ำความสะอาดพืน้ผิวท่ีเป็นกระจกด้วยผ้าชามวัร์

6.	 อยา่นัง่, พิง หรือเหยียบบนตู้ เฟอร์นิเจอร์

C. Complete Installation
1.	Install the faucet in accordance with the manufacture’s
	 instructions.
2.	Connect the hot and cold water supplies.

3.	Attach the waste pipe, and tighten securely.

4.	Open the hot and cold water valves and check the supply
	 connections for any leaks.

5.	Run water into the washbasin or vanity top, and check the
	 drain connections for any leaks.

6.	Install the washbasin cabinet slide door.

ค. การตดิตัง้ให้สมบรูณ์

1.	ตดิตัง้ก๊อกน�ำ้ตามคูมื่อแนะน�ำการติดตัง้ของผู้ผลติ

2.	ตอ่ทอ่น�ำ้ร้อนและทอ่น�ำ้เยน็

3.	ประกอบทอ่น�ำ้ทิง้

4.	เปิดวาล์วน�ำ้ร้อนและวาล์วน�ำ้เยน็ เพ่ือตรวจสอบการร่ัวซมึ
	 ตามข้อตอ่ตา่งๆ

5.	เปิดน�ำ้ลงอา่งล้างหน้า-อา่งล้างมือ เพ่ือตรวจสอบการร่ัวซมึ
	 ตามข้อตอ่ตา่งๆ

6.	ตดิตัง้บานประตบูานเลื่อนเข้ากบัตู้ เฟอร์นิเจอร์

2 1

Insert the slide door into the wash basin cabinet.
สวมประตูบานเลื่อนเข้ากับตู้เฟอร์นิเจอร์


